
24/HV/M–2023–28 Booklet Series

Candidate’s Roll Number

Question Booklet

LANGUAGE, GENERAL STUDIES AND BUSINESS STUDIES

Read the following instructions carefully before you begin to answer the questions.

IMPORTANT INSTRUCTIONS

1. This Question Booklet is divided into three Parts—Part–I, Part–II and Part–III. Part–I contains
questions of Language (Qualifying), Part–II contains questions of General Studies and Part–III
contains questions of Business Studies.

2. Part–I consists of Question Nos. 1 to 30, Part–II consists of Question Nos. 31 to 70 and Part–III
consists of Question Nos. 71 to 150. The questions and their responses are printed in English
and Hindi versions both of Part–II and Part–III.

3. All questions carry equal marks.

4. Immediately after commencement of the examination, you should check up your Question
Booklet and ensure that the Question Booklet Series is printed on the top right-hand corner
of the Booklet. Please check that the Booklet contains 44 printed pages including two pages
(Page Nos. 42 and 43) for Rough Work and no page or question is missing or unprinted or
torn or repeated. If you find any defect in this Booklet, get it replaced immediately by a
complete Booklet of the same series.

5. You must write your Roll Number in the space provided on the top of this page. Do not write
anything else on the Question Booklet.

6. An Answer Sheet will be supplied to you separately by the Invigilator to mark the answers. You
must write your Name and other particulars in the space provided on Page–1 of the Answer
Sheet provided, failing which your Answer Sheet will not be evaluated.

7. You should encode your Roll Number and the Question Booklet Series A, B, C or D as it is
printed on the top right-hand corner of the Question Booklet with Black/Blue ink ballpoint pen in
the space provided on Page–2 of your Answer Sheet. If you do not encode or fail to encode the
correct series of your Question Booklet, your Answer Sheet will not be evaluated correctly.

8. Each question comprises of five responses—(A), (B), (C), (D) and (E). You are to select ONLY ONE
correct response and mark it in your Answer Sheet. Your total marks will depend on the number
of correct responses marked by you in the Answer Sheet.

9. In the Answer Sheet, there are five circles— and against each question. To
answer the questions, you are to mark with Black/Blue ink ballpoint pen ONLY ONE circle of your
choice for each question. Select only one response for each question and mark it in your Answer
Sheet. If you mark more than one answer for one question, the answer will be treated as wrong.
Use Black/Blue ink ballpoint pen only to mark the answer in the Answer Sheet. Any erasure
or change is not allowed.

10. You should not remove or tear off any sheet from the Question Booklet. You are not allowed to
take this Question Booklet and the Answer Sheet out of the Examination Hall during the
examination. After the examination has concluded, you must hand over your Answer Sheet
to the Invigilator. Thereafter, you are permitted to take away the Question Booklet with you.

11. Failure to comply with any of the above instructions will render you liable to such action or
penalty as the Commission may decide at their discretion.

12. Candidates must assure before leaving the Examination Hall that their Answer Sheets will be kept
in Self Adhesive LDPE Bag and completely packed/sealed in their presence.

‹`mZ X| : AZwXoem| H$m {h›Xr Í$nm›Va Bg nwpÒVH$m Ho$ Ap›V_ n•> na N>nm h°ü&

Time Allowed : 2:30 Hours Maximum Marks : 150

S
e
ri

a
l

N
o
.

A

A B C D, , , E



PART—I

( LANGUAGE )

Directions (Q. Nos. 1 and 2) : Fill in

the blanks with suitable articles like

‘a’, ‘an’ and ‘the’ :

1. There are 30 or 31 days in _____

month.

(A) the

(B) a

(C) an

(D) More than one of the above

(E) None of the above

2. My father is _____ engineer in

the Water Works Department.

(A) the

(B) an

(C) a

(D) More than one of the above

(E) None of the above

3. Which of the following is a part

of bedroom?

(A) Pillow

(B) Table lamp

(C) Curtains

(D) More than one of the above

(E) None of the above

4. Which of the following is a part

of a room?

(A) Window

(B) Ceiling

(C) Floor

(D) More than one of the above

(E) None of the above

5. Rainy season comes before

(A) winter

(B) spring

(C) summer

(D) More than one of the above

(E) None of the above

6. The eighth month of the year is

(A) July

(B) September

(C) October

(D) More than one of the above

(E) None of the above

7. Sister-in-law is

(A) husband’s sister

(B) wife’s sister

(C) brother’s wife

(D) More than one of the above

(E) None of the above

8. Cousins are

(A) maternal

(B) paternal

(C) siblings

(D) More than one of the above

(E) None of the above
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9. "Mm±Xr' e„X _| H$m°Z-gr gßkm h°?

(A) –Ï`dmMH$ gßkm

(B) Om{VdmMH$ gßkm

(C) ^mddmMH$ gßkm

(D) Cn`w©∫$ _| go EH$ go A{YH$

(E) Cn`w©∫$ _| go H$moB© Zht

10. {ZÂZ{b{IV e„Xm| _| go H$m°Z-gm "EH$dMZ' h°?

(A) hÒVmja

(B) N>m`m

(C) Am±gy

(D) Cn`w©∫$ _| go EH$ go A{YH$

(E) Cn`w©∫$ _| go H$moB© Zht

11. {h›Xr e„XH$moe _| "j' H$m H´$_ {H$g dU© Ho$
~mX AmVm h°?

(A) Ã Ho$ n¸mV≤

(B) k Ho$ n¸mV≤

(C) H$ Ho$ n¸mV≤

(D) Cn`w©∫$ _| go EH$ go A{YH$

(E) Cn`w©∫$ _| go H$moB© Zht

12. ""{OgH$s `h nwÒVH$ h°, Cgo bm°Q>m Xmoü&'' Bg
dmä` _| H$m°Z-gm gd©Zm_ h°?

(A) {Z¸`dmMH$

(B) gß~ßYdmMH$

(C) nwÈfdmMH$

(D) Cn`w©∫$ _| go EH$ go A{YH$

(E) Cn`w©∫$ _| go H$moB© Zht

13. {deofU H$m ‡_wI ^oX H$m°Z-gm Zht h°?

(A) Agmd©Zm{_H$ {deofU

(B) JwUdmMH$ {deofU

(C) n[a_mUdmMH$ {deofU

(D) Cn`w©∫$ _| go EH$ go A{YH$

(E) Cn`w©∫$ _| go H$moB© Zht

14. {ZÂZ{b{IV _| go H$m°Z-gm Aew’ e„X h°?

(A) dr^Àg

(B) bJmZ

(C) AmJm_r

(D) Cn`w©∫$ _| go EH$ go A{YH$

(E) Cn`w©∫$ _| go H$moB© Zht

15. {ZÂZ{b{IV _| go H$m°Z-gm ew’ dV©Zr dmbm
e„X h°?

(A) j{Ã`

(B) jÃr`

(C) CÇmdb

(D) Cn`w©∫$ _| go EH$ go A{YH$

(E) Cn`w©∫$ _| go H$moB© Zht

16. {ZÂZ{b{IV _| go H$m°Z-gm "VÀg_' e„X h°?

(A) Ka

(B) ÒZoh

(C) N>oX

(D) Cn`w©∫$ _| go EH$ go A{YH$

(E) Cn`w©∫$ _| go H$moB© Zht
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17. {ZÂZ{b{IV _| go H$m°Z-gm {dXoer e„X h°?

(A) ~mK

(B) narjm

(C) Mm`

(D) Cn`w©∫$ _| go EH$ go A{YH$

(E) Cn`w©∫$ _| go H$moB© Zht

18. aMZm Ho$ AmYma na "{OZ e„Xm| Ho$ IßS> gmW©H$
Z hm|' C›h| H$m°Z-gm e„X H$hm OmVm h°?

(A) Í$ãT>

(B) `m°{JH$

(C) `moJÍ$ãT>

(D) Cn`w©∫$ _| go EH$ go A{YH$

(E) Cn`w©∫$ _| go H$moB© Zht

19. {ZÂZ{b{IV _| go {H$g dmä` _| "AH$_©H$
{H´$`m' h°?

(A) Cgo _V bOmAmoü&

(B) ~m{bH$m bOmVr h°ü&

(C) godH$ ZXr go JmJa ^aVm h°ü&

(D) Cn`w©∫$ _| go EH$ go A{YH$

(E) Cn`w©∫$ _| go H$moB© Zht

20. {ZÂZ{b{IV _| go H$m°Z-gm XoeO e„X h°?

(A) Amdmam

(B) ^m¢am

(C) nadb

(D) Cn`w©∫$ _| go EH$ go A{YH$

(E) Cn`w©∫$ _| go H$moB© Zht

21. {ZÂZ{b{IV _| go H$m°Z-gm e„X Í$ãT> e„X Zht

h°?

(A) bH$ãS>r

(B) ObYmam

(C) _h{f©

(D) Cn`w©∫$ _| go EH$ go A{YH$

(E) Cn`w©∫$ _| go H$moB© Zht

22. "Im[aO' {H$g ^mfm H$m e„X h°?

(A) Aa~r

(B) \$magr

(C) VwH$s©

(D) Cn`w©∫$ _| go EH$ go A{YH$

(E) Cn`w©∫$ _| go H$moB© Zht

23. Aew’ Am°a ew’ dV©Zr H$m H$m°Z-gm `wΩ_ ghr
Zht h°?

(A) H$mo_bmß{JZrççH$mo_bmßJr

(B) gwlyfmççewlyfm

(C) _mhmÀ_çç_hmÀÂ`

(D) Cn`w©∫$ _| go EH$ go A{YH$

(E) Cn`w©∫$ _| go H$moB© Zht

24. ""CgH$m ^{dÓ` COdb h°ü&'' Bg dmä` _|
aoImß{H$V e„X H$s ew’ dV©Zr H$m°Z-gr h°?

(A) CÇdb

(B) C¡db

(C) CÇmdb

(D) Cn`w©∫$ _| go EH$ go A{YH$

(E) Cn`w©∫$ _| go H$moB© Zht
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25. EH$ N>moQ>r AmH•${V H$m M_H$sbm dJ©, Omo ÒH´$sZ
na {H$gr {Mï H$s pÒW{V H$mo ÒnÔ> H$aVm h°,
Cgo ä`m H$hVo h¢?

(A) H$aga

(B) {Mn

(C) H$_mßS>

(D) Cn`w©∫$ _| go EH$ go A{YH$

(E) Cn`w©∫$ _| go H$moB© Zht

26. "Hw$ÈjoÃ' Ho$ boIH$ H$m ä`m Zm_ h°?

(A) h[aAm°Y

(B) lrYa nmR>H$

(C) _°{WbreaU Jw·

(D) Cn`w©∫$ _| go EH$ go A{YH$

(E) Cn`w©∫$ _| go H$moB© Zht

27. ""OgmoXm h[a nmbZ° Pwbmd°ü&
hbamd° XwbamB _Îhmd¢, OmoB-gmoB H$Nw> Jmd¢ü&&''

C∫$ H$mÏ`-nß{∫$`m| _| H$m°Z-gm ag h°?

(A) ˚m•ßJma

(B) dra

(C) dmÀgÎ`

(D) Cn`w©∫$ _| go EH$ go A{YH$

(E) Cn`w©∫$ _| go H$moB© Zht

28. {h›Xr ^mfm Ho$ CX≤^d H$m H$mb _mZm OmVm h°

(A) 500 B©0 ny0

(B) 500 B©0

(C) 1000 B©0

(D) Cn`w©∫$ _| go EH$ go A{YH$

(E) Cn`w©∫$ _| go H$moB© Zht

29. ^maVr` H$mÏ`emÛ _| j_merb, JÂ^ra,
pÒWa{MŒm, Òdm{^_mZr Edß —ãT> ‡{Vk Zm`H$ H$mo
H$hm J`m h°

(A) Yrab{bV

(B) YramoXmŒm

(C) Yra ‡emßV

(D) Cn`w©∫$ _| go EH$ go A{YH$

(E) Cn`w©∫$ _| go H$moB© Zht

30. {OZ e„Xm| na qbJ, dMZ, H$maH$ H$m H$moB©
‡^md Z nãS>o, do H$hbmVo h¢

(A) Ï``

(B) {dH$mar

(C) A{dH$mar

(D) Cn`w©∫$ _| go EH$ go A{YH$

(E) Cn`w©∫$ _| go H$moB© Zht
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PART—II

( GENERAL STUDIES )

31. The floor of a rectangular hall

has a perimeter 250 meters. If

the cost of painting the four

walls at the rate of R10 per

( )meter 2 is R15,000, then the

height of the hall is

(A) 7 meters

(B) 16 meters

(C) 6 meters

(D) More than one of the above

(E) None of the above

32. Which of the following

statements is not true?

(A) Every natural number is a

whole number.

(B) Every integer is a whole

number.

(C) Every natural number is an

integer number.

(D) More than one of the above

(E) None of the above

33. The average of 7 consecutive

numbers is 20. The largest of

these numbers is

(A) 20

(B) 21

(C) 23

(D) More than one of the above

(E) None of the above

34. The equation ax bx c2 0+ + = has

two distinct real roots, if

(A) b ac2 4 0- <

(B) b ac2 4 0- >

(C) b ac2 4 0- =

(D) More than one of the above

(E) None of the above

35. Mohan can do a bit of work in

25 days which can be completed

by Sohan in 20 days. Both

together labour for 5 days and

afterward Mohan leaves off. How

long will Sohan take to complete

the remaining work?

(A) 20 days

(B) 11 days

(C) 14 days

(D) More than one of the above

(E) None of the above
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PART—II

( GENERAL STUDIES )

31. EH$ Am`VmH$ma hm∞b Ho$ \$e© H$s n[a{Y
250 _rQ>a h°ü& `{X R10 ‡{V dJ© _rQ>a H$s
Xa go Mmam| Xrdmam| H$mo n|Q> H$aZo H$s bmJV
R15,000 h°, Vmo hm∞b H$s D±$MmB© h°

(A) 7 _rQ>a

(B) 16 _rQ>a

(C) 6 _rQ>a

(D) Cn`w©∫$ _| go EH$ go A{YH$

(E) Cn`w©∫$ _| go H$moB© Zht

32. {ZÂZ{b{IV _| go H$m°Z-gm H$WZ gÀ`
Zht h°?

(A) ‡À`oH$ ‡mH•$V gßª`m, EH$ nyU© gßª`m h°ü&

(B) ‡À`oH$ nyUm™H$, EH$ nyU© gßª`m h°ü&

(C) ‡À`oH$ ‡mH•$V gßª`m, EH$ nyUm™H$
gßª`m h°ü&

(D) Cn`w©∫$ _| go EH$ go A{YH$

(E) Cn`w©∫$ _| go H$moB© Zht

33. 7 H´$_mJV gßª`mAm| H$m Am°gV 20 h°ü& BZ_|
go g~go ~ãS>r gßª`m h°

(A) 20

(B) 21

(C) 23

(D) Cn`w©∫$ _| go EH$ go A{YH$

(E) Cn`w©∫$ _| go H$moB© Zht

34. g_rH$aU ax bx c2 0+ + = Ho$ Xmo {^fi
dmÒV{dH$ _yb hm|Jo, `{X

(A) b ac2 4 0- <

(B) b ac2 4 0- >

(C) b ac2 4 0- =

(D) Cn`w©∫$ _| go EH$ go A{YH$

(E) Cn`w©∫$ _| go H$moB© Zht

35. _mohZ 25 {XZm| _| EH$ H$m_ H$a gH$Vm h°
{Ogo gmohZ 20 {XZm| _| nyam H$a gH$Vm h°ü&
XmoZm| EH$ gmW 5 {XZm| Ho$ {bE l_ H$aVo h¢
Am°a CgHo$ ~mX _mohZ H$m_ N>moãS> XoVm h°ü& eof
H$m`© H$mo nyam H$aZo _| gmohZ H$mo {H$VZm g_`
bJoJm?

(A) 20 {XZ

(B) 11 {XZ

(C) 14 {XZ

(D) Cn`w©∫$ _| go EH$ go A{YH$

(E) Cn`w©∫$ _| go H$moB© Zht



36. If X a b= -
2 2, Y = 30 and

a b+ = 15, then

(A) X is lesser than Y if a b=

(B) X is greater thanY if a b>

(C) Y is greater than X if a b=

(D) More than one of the above

(E) None of the above

37. The probability of a non leap

year selected at random will

contain 53 Sundays is

(A)
1

7

(B)
2

53

(C)
1

53

(D) More than one of the above

(E) None of the above

38. If 7 4912 6 3 12x x+ +
= , then the

value of x is

(A) 3

(B) 4

(C) 7

(D) More than one of the above

(E) None of the above

39. Myopia is a disease in which a

person cannot see

(A) distant objects clearly

(B) nearby objects clearly

(C) nearby as well as distant

objects clearly

(D) More than one of the above

(E) None of the above

40. The term ‘heredity’ chiefly refers

to

(A) anatomy

(B) meiosis

(C) genetics

(D) More than one of the above

(E) None of the above

41. The cans in which food is

packed are coated with tin and

not zinc because

(A) tin is more reactive than

zinc

(B) zinc is more reactive than

tin

(C) zinc is costlier than tin

(D) More than one of the above

(E) None of the above
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36. `{X X a b= -
2 2, Y = 30 VWm

a b+ = 15 hmo, Vmo

(A) X N>moQ>m h° Y go `{X a b=

(B) X ~ãS>m h° Y go `{X a b>

(C) Y ~ãS>m h° X go `{X a b=

(D) Cn`w©∫$ _| go EH$ go A{YH$

(E) Cn`w©∫$ _| go H$moB© Zht

37. `m—p¿N>H$ Í$n go MwZo JE EH$ J°a-brn df© _|
53 a{ddma hmoZo H$s ‡m{`H$Vm h°

(A)
1

7

(B)
2

53

(C)
1

53

(D) Cn`w©∫$ _| go EH$ go A{YH$

(E) Cn`w©∫$ _| go H$moB© Zht

38. `{X 7 4912 6 3 12x x+ +
= hmo, Vmo x H$m

_mZ h°

(A) 3

(B) 4

(C) 7

(D) Cn`w©∫$ _| go EH$ go A{YH$

(E) Cn`w©∫$ _| go H$moB© Zht

39. _m`mo{n`m dh ~r_mar h°, {Og_| Ï`{∫$ XoI
Zht nmVm h°

(A) Xya H$s dÒVwE± ÒnÔ> Í$n go

(B) nmg H$s dÒVwE± ÒnÔ> Í$n go

(C) nmg H$s VWm Xya H$s dÒVwE± ÒnÔ> Í$n go

(D) Cn`w©∫$ _| go EH$ go A{YH$

(E) Cn`w©∫$ _| go H$moB© Zht

40. "AmZwdß{eH$Vm' e„X _wª` Í$n go {H$go
gßX{^©V H$aVm h°?

(A) eara-aMZm

(B) AY©gyÃr {d^mOZ

(C) AmZwdß{eH$s

(D) Cn`w©∫$ _| go EH$ go A{YH$

(E) Cn`w©∫$ _| go H$moB© Zht

41. {OZ {S>„~m| _| ImZm n°H$ {H$`m OmVm h°, CZ
na {Q>Z H$s naV MãT>r hmoVr h° Z {H$ qOH$ H$s,
ä`m|{H$

(A) {Q>Z, qOH$ H$s VwbZm _| A{YH$
‡{V{H´$`merb h°

(B) qOH$, {Q>Z H$s VwbZm _| A{YH$
‡{V{H´$`merb h°

(C) qOH$, {Q>Z go _h±Jm h°

(D) Cn`w©∫$ _| go EH$ go A{YH$

(E) Cn`w©∫$ _| go H$moB© Zht



42. The process in which

atmospheric carbon dioxide is

converted into carbohydrates

during photosynthesis is

(A) oxidation

(B) reduction

(C) hydrolysis

(D) More than one of the above

(E) None of the above

43. The quality of a printer is

determined as

(A) words per inch

(B) strike per inch

(C) dots per inch

(D) More than one of the above

(E) None of the above

44. Trachoma disease is related to

(A) lungs

(B) ears

(C) eyes

(D) More than one of the above

(E) None of the above

45. Which of the following makes

use of Newton’s third law of

motion?

(A) Archery

(B) Space rocket

(C) Venturimeter

(D) More than one of the above

(E) None of the above

46. Particles which can be added to

the nucleus of an atom without

changing its chemical properties

are

(A) neutrons

(B) electrons

(C) protons

(D) More than one of the above

(E) None of the above
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42. dh ‡{H´$`m, {Og_| ‡H$me-gßÌbofU Ho$ Xm°amZ
dm`w_�S>br` H$m~©Z S>mBAm∞ägmBS> H$mo
H$m~m}hmBS¥>oQ> _| n[ad{V©V {H$`m OmVm h°, h°

(A) Am∞ägrH$aU

(B) AnM`Z

(C) Obr`-{dÌbofU

(D) Cn`w©∫$ _| go EH$ go A{YH$

(E) Cn`w©∫$ _| go H$moB© Zht

43. EH$ {‡›Q>a H$s JwUdŒmm {H$ggo {ZYm©[aV H$s
OmVr h°>?

(A) e„X ‡{V BßM

(B) ‡hma ‡{V BßM

(C) {~›Xw ‡{V BßM

(D) Cn`w©∫$ _| go EH$ go A{YH$

(E) Cn`w©∫$ _| go H$moB© Zht

44. Q¥>°H$mo_m amoJ H$m gÂ~›Y h°

(A) \o$\$ãS>m| go

(B) H$mZ go

(C) Am±Im| go

(D) Cn`w©∫$ _| go EH$ go A{YH$

(E) Cn`w©∫$ _| go H$moB© Zht

45. {ZÂZ{b{IV _| go H$m°Z-gm ›`yQ>Z Ho$ J{V Ho$
Vrgao {Z`_ H$m Cn`moJ H$aVm h°?

(A) VraßXmOr

(B) AßV[aj am∞Ho$Q>

(C) do›Myar_rQ>a

(D) Cn`w©∫$ _| go EH$ go A{YH$

(E) Cn`w©∫$ _| go H$moB© Zht

46. amgm`{ZH$ JwUm| H$mo An[ad{V©V aIVo h˛E EH$
na_mUw Ho$ Zm{^H$ _| OmoãS>o OmZo dmbo H$U h¢

(A) ›`yQ¥>m∞Z

(B) BboäQ¥>m∞Z

(C) ‡moQ>m∞Z

(D) Cn`w©∫$ _| go EH$ go A{YH$

(E) Cn`w©∫$ _| go H$moB© Zht
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47. Before Elon Musk announced

change of the signature Blue

Bird logo to Sign ‘X’ logo, who is

regarded as the creator of

Twitter’s iconic Bird in its final

version in 2012?

(A) Jack Dorsey

(B) Martin Grasser

(C) Noah Glass

(D) More than one of the above

(E) None of the above

48. Who is the Director of the

famous film Oppenheimer, a film

about high-concept science,

released this year?

(A) Christopher Nolan

(B) Guy Ritchie

(C) Laura McGann

(D) More than one of the above

(E) None of the above

49. Which one of the following has

pulled out from hosting the

2026 edition of Commonwealth

Games due to huge estimated

expenditure on its organization?

(A) London, UK

(B) Kuala Lumpur, Malaysia

(C) Victoria, Australia

(D) More than one of the above

(E) None of the above

50. What is the full form of INDIA, a

recently formed alliance of

opposition political parties?

(A) Indian National Develop-

mental Inclusive Alliance

(B) Indian National Develop-

ment for Improvement

Alliance

(C) Indian National Develop-

mental Inclusive Associa-

tion

(D) More than one of the above

(E) None of the above

51. What message was sent by

Chandrayaan–2 lunar orbiter to

Chandrayaan–3’s lander module

when it established contact with

it in August 2023?

(A) “Welcome home”

(B) “Chalo chand ke paar

chalein”

(C) “Welcome, buddy”

(D) More than one of the above

(E) None of the above
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47. EbZ _ÒH$ ¤mam {gæoMa „by ~S>© bmoJmo H$mo
~XbH$a "X' bmoJmo H$s KmofUm H$aZo go nhbo,
2012 _| AnZo Ap›V_ gßÒH$aU _| {Qâ>Q>a Ho$
‡{V{>V ~S>© Ho$ {Z_m©Vm Ho$ Í$n _| {H$go _mZm
OmVm h°?

(A) O°H$ S>mogu

(B) _m{Q>©Z J´mga

(C) ZmoAmh Ωbmg

(D) Cn`w©∫$ _| go EH$ go A{YH$

(E) Cn`w©∫$ _| go H$moB© Zht

48. Bg df© [abrµO h˛B© CÉ-AdYmaUm {dkmZ Ho$
~mao _| ‡{g’ {\$Î_ "AmonoZhmB_a>' Ho$ {ZX}eH$
H$m°Z h¢?

(A) {H´$ÒQ>mo\$a ZmobZ

(B) JmB [aMr

(C) bm°am _°H$J°Z

(D) Cn`w©∫$ _| go EH$ go A{YH$

(E) Cn`w©∫$ _| go H$moB© Zht

49. {ZÂZ{b{IV _| go {H$gZo amÔ¥>_�S>b Iobm| Ho$
2026 gßÒH$aU H$s _oO~mZr go BgHo$
Am`moOZ na ^mar AZw_m{ZV Ï`` Ho$ H$maU
AnZm Zm_ dmng bo {b`m h°?

(A) bßXZ, `y0 Ho$0

(B) Hw$Ambmbßnwa, _bo{e`m

(C) {däQ>mo[a`m, Am∞ÒQ¥>o{b`m

(D) Cn`w©∫$ _| go EH$ go A{YH$

(E) Cn`w©∫$ _| go H$moB© Zht

50. hmb hr _| ~Zo {dnjr amOZr{VH$ Xbm| Ho$
JR>~ßYZ INDIA H$m nyU©Í$n ä`m h°?

(A) Bß{S>`Z ZoeZb S>odbn_|Q>b Bßäby{gd
Abm`›g

(B) Bß{S>`Z ZoeZb S>odbn_|Q> \$m∞a BÂ‡yd_|Q>
Abm`›g

(C) Bß{S>`Z ZoeZb S>odbn_|Q>b Bßäby{gd
Eogmo{gEeZ

(D) Cn`w©∫$ _| go EH$ go A{YH$

(E) Cn`w©∫$ _| go H$moB© Zht

51. AJÒV 2023 _| O~ M›–`mZ–2 Mß–
Am∞{~©Q>a Zo M›–`mZ–3 Ho$ b°ßS>a _m∞S>Áyb go
gÂnH©$ ÒWm{nV {H$`m, Vmo CgZo Cgo ä`m gßXoe
^oOm Wm?

(A) ""dobH$_ hmo_''

(B) ""Mbmo Mm±X Ho$ nma Mb|''

(C) ""dobH$_, ~S>r''

(D) Cn`w©∫$ _| go EH$ go A{YH$

(E) Cn`w©∫$ _| go H$moB© Zht
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52. Name the former President of

China who crushed the pro-

democracy movement in 1989.

(A) Mao Tse Tung

(B) Yang Shangkun

(C) Jiang Zemin

(D) More than one of the above

(E) None of the above

53. Who has elected for the second

term as Ireland’s Prime

Minister?

(A) Sanna Marin

(B) Robert Abela

(C) Leo Varadkar

(D) More than one of the above

(E) None of the above

54. African Union was made a

permanent member in the G–20

Summit held in India. Who is

the Chairman of the African

Union?

(A) Azali Assoumani

(B) Justin Trudeau

(C) Ursula von der Leyen

(D) More than one of the above

(E) None of the above

55. As per geographical area,

arrange the following physio-

graphic units of India in

ascending order

1. Central highlands

2. Great plains

3. Coastal plains

4. Northern Mountains

Select the correct answer using

the codes given below.

(A) 3, 1, 2, 4

(B) 1, 2, 3, 4

(C) 2, 4, 1, 3

(D) More than one of the above

(E) None of the above

56. Arrange the following ranges

from North to South in

sequence :

1. Ladakh

2. Karakoram

3. Pir Panjal

4. Zanskar

Select the correct answer using

the codes given below.

(A) 1, 3, 2, 4

(B) 2, 1, 4, 3

(C) 3, 4, 1, 2

(D) More than one of the above

(E) None of the above
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52. 1989 _| bmoH$V›Ã g_W©H$ Am›XmobZ H$mo
Hw$MbZo dmbo MrZ Ho$ nyd© amÔ¥>n{V H$m Zm_
{b{IEü&

(A) _mAmo Àgo VwßJ

(B) `mßJ emßJHw$Z

(C) {O`mßJ Oo{_Z

(D) Cn`w©∫$ _| go EH$ go A{YH$

(E) Cn`w©∫$ _| go H$moB© Zht

53. Am`ab¢S> Ho$ ‡YmZ_ßÃr Ho$ Í$n _| Xygao
H$m`©H$mb Ho$ {bE {H$go MwZm J`m h°?

(A) g›Zm _arZ

(B) am∞~Q>© A~obm

(C) {b`mo damS>H$a

(D) Cn`w©∫$ _| go EH$ go A{YH$

(E) Cn`w©∫$ _| go H$moB© Zht

54. ^maV _| Am`mo{OV Or–20 {eIa gÂ_obZ _|
A\´$sH$s gßK H$mo ÒWm`r gXÒ` ~Zm`m J`mü&
A\´$sH$s gßK Ho$ A‹`j H$m°Z h¢?

(A) AOmbr Agm°_Zr

(B) OpÒQ>Z QØ>S>mo

(C) Cg©wbm dm∞Z S>oa boZ

(D) Cn`w©∫$ _| go EH$ go A{YH$

(E) Cn`w©∫$ _| go H$moB© Zht

55. ^m°Jmo{bH$ joÃ\$b Ho$ AZwgma, ^maV H$s
{ZÂZ{b{IV ^m°°{VH$ ({\${O`moJ´m{\$H$) BH$mB`m|
H$mo Amamohr H´$_ _| Ï`dpÒWV H$s{OE :

1. Ho$›–r` CÉ^mJ

2. _hmZ _°XmZ

3. VQ>r` _°XmZ

4. CŒmar nd©V

ZrMo {XE JE Hy$Q> H$m ‡`moJ H$a ghr CŒma
Mw{ZEü&

(A) 3, 1, 2, 4

(B) 1, 2, 3, 4

(C) 2, 4, 1, 3

(D) Cn`w©∫$ _| go EH$ go A{YH$

(E) Cn`w©∫$ _| go H$moB© Zht

56. {ZÂZ{b{IV lo{U`m| H$mo CŒma go X{jU H$s
Amoa H´$_ _| Ï`dpÒWV H$s{OE :

1. b‘mI

2. H$amH$moa_

3. nra n›Omb

4. OmßÒH$a

ZrMo {XE JE Hy$Q> H$m ‡`moJ H$a ghr CŒma
Mw{ZEü&

(A) 1, 3, 2, 4

(B) 2, 1, 4, 3

(C) 3, 4, 1, 2

(D) Cn`w©∫$ _| go EH$ go A{YH$

(E) Cn`w©∫$ _| go H$moB© Zht
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57. During the monsoon season in

India, most of the cyclones have

their origin

(A) between 8° N and 13° N

latitude

(B) between 10° N and 15° N

latitude

(C) between 16° N and 21° N

latitude

(D) More than one of the above

(E) None of the above

58. Which of the following areas is

not landslide-prone area?

(A) Western Ghats

(B) Eastern Ghats

(C) Himalayan Regions

(D) More than one of the above

(E) None of the above

59. Which of the following coasts of

India is most affected by violent

tropical cyclones?

(A) Malabar

(B) Coromandel

(C) Konkan

(D) More than one of the above

(E) None of the above

60. When running water cuts

through clayey soils and makes

deep channels, they lead to

(A) gully erosion

(B) sheet erosion

(C) deforestation

(D) More than one of the above

(E) None of the above

61. Which of the following receives

heavy rainfall in the month of

October and November?

(A) Hills of Garo, Khasi and

Jaintia

(B) Coromandel Coasts

(C) Plateau of Chota Nagpur

(D) More than one of the above

(E) None of the above

62. Cultivation of fruits and

vegetables is called

(A) floriculture

(B) agriculture

(C) horticulture

(D) More than one of the above

(E) None of the above
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57. ^maV _| _m∞ZgyZ grOZ _| A{YH$mße MH´$dmVmoß
H$s CÀn{Œm hmoVr h°

(A) 8° C0 Am°a 13° C0 Ajmße Ho$ _‹`

(B) 10° C0 Am°a 15° C0 Ajmße Ho$ _‹`

(C) 16° C0 Am°a 21° C0 Ajmße Ho$ _‹`

(D) Cn`w©∫$ _| go EH$ go A{YH$

(E) Cn`w©∫$ _| go H$moB© Zht

58. {ZÂZ{b{IV joÃm| _| go H$m°Z-gm ^yÒIbZ-
‡d•Œm (‡moZ) Zht h°?

(A) npÌM_r KmQ>

(B) nydu KmQ>

(C) {h_mb`r joÃ

(D) Cn`w©∫$ _| go EH$ go A{YH$

(E) Cn`w©∫$ _| go H$moB© Zht

59. {ZÂZ{b{IV _| go ^maV H$m H$m°Z-gm VQ> CJ´
CÓUH${Q>~ßYr` MH´$dmVm| go g~go A{YH$
‡^m{dV h°?

(A) _mbm~ma

(B) H$moamo_ßS>b

(C) H$m|H$U

(D) Cn`w©∫$ _| go EH$ go A{YH$

(E) Cn`w©∫$ _| go H$moB© Zht

60. O~ ~hVm nmZr {MH$Zr {_≈>r H$mo H$mQ>Vm h°
Am°a Jhao M°Zb ~ZmVm h°, Vmo ä`m hmoVm h°?

(A) Jbr H$Q>md

(B) erQ> jaU

(C) dZm| H$s H$Q>mB©

(D) Cn`w©∫$ _| go EH$ go A{YH$

(E) Cn`w©∫$ _| go H$moB© Zht

61. {ZÂZ{b{IV _| go H$hm± A∫y$~a Am°a ZdÂ~a Ho$
_hrZo _| ^mar dfm© hmoVr h°?

(A) Jmamo, Imgr Am°a O¢{V`m H$s nhm{ãS>`m±

(B) H$moamo_ßS>b VQ>

(C) N>moQ>mZmJnwa H$m nR>ma

(D) Cn`w©∫$ _| go EH$ go A{YH$

(E) Cn`w©∫$ _| go H$moB© Zht

62. \$bm| Edß gp„O`m| H$s IoVr H$hbmVr h°

(A) \y$bm| H$s IoVr

(B) H•${f

(C) ~mJdmZr

(D) Cn`w©∫$ _| go EH$ go A{YH$

(E) Cn`w©∫$ _| go H$moB© Zht
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63. Who provided leadership in the

districts of Patna, Ara and

Shahabad during the Revolt of

1857 in Bihar?

(A) Raj Kumar Shukla

(B) Namdar Khan

(C) Kunwar Singh

(D) More than one of the above

(E) None of the above

64. The Partition of Bengal was

made effective on

(A) 14 October, 1905

(B) 15 October, 1905

(C) 16 October, 1905

(D) More than one of the above

(E) None of the above

65. The Quit India Resolution was

adopted by the Congress in

Bombay on

(A) 7 August, 1942

(B) 8 August, 1942

(C) 9 August, 1942

(D) More than one of the above

(E) None of the above

66. The British ruled India for a long

period due to the

(A) liberal policies of the

Congress

(B) imprisonment of Indian

leaders

(C) policy of Divide and Rule

(D) More than one of the above

(E) None of the above

67. Queen Victoria’s Proclamation

was issued on which of the

following dates?

(A) 1 November, 1857

(B) 27 March, 1858

(C) 1 November, 1858

(D) More than one of the above

(E) None of the above

68. Which of the following

statements is/are correct?

(A) Raja Rammohan Roy was

the pioneer of modern

education.

(B) Swami Dayanand

proclaimed India for

Indians.

(C) Vivekananda participated in

the Parliament of World

Religions.

(D) More than one of the above

(E) None of the above

69. Who among the following

became India’s unofficial

Ambassador to England?

(A) Surendranath Banerjee

(B) Dadabhai Naoroji

(C) Swami Vivekananda

(D) More than one of the above

(E) None of the above

70. Who described the Government

of India Act, 1935 as a ‘Charter

of Slavery’ ?

(A) Mahatma Gandhi

(B) Netaji Subhas Chandra

Bose

(C) Maulana Hasrat Mohani

(D) More than one of the above

(E) None of the above
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63. {~hma _| 1857 H$s H´$mp›V Ho$ Xm°amZ nQ>Zm,
Amam Am°a emhm~mX {Obm| _| {H$gZo ZoV•Àd
‡XmZ {H$`m?

(A) amOHw$_ma ewäbm

(B) Zm_Xma Im±

(C) Hw±$da qgh

(D) Cn`w©∫$ _| go EH$ go A{YH$

(E) Cn`w©∫$ _| go H$moB© Zht

64. ~ßJmb H$m {d^mOZ ‡^mdr h˛Am

(A) 14 A∫y$~a, 1905 H$mo

(B) 15 A∫y$~a, 1905 H$mo

(C) 16 A∫y$~a, 1905 H$mo

(D) Cn`w©∫$ _| go EH$ go A{YH$

(E) Cn`w©∫$ _| go H$moB© Zht

65. ~Â~B© _| H$m±J´og ¤mam ^maV N>moãS>mo ‡ÒVmd nmg
{H$`m J`m

(A) 7 AJÒV, 1942 H$mo

(B) 8 AJÒV, 1942 H$mo

(C) 9 AJÒV, 1942 H$mo

(D) Cn`w©∫$ _| go EH$ go A{YH$

(E) Cn`w©∫$ _| go H$moB© Zht

66. AßJ´oOm| Zo ^maV na bÂ~o g_` VH$ am¡` H°$go
{H$`m?

(A) H$m±J´og H$s CXmadmXr Zr{V`moß Ho$ H$maU

(B) ^maVr` ZoVmAm| H$s {Ja‚Vmar Ho$ H$maU

(C) "~m±Q>mo Am°a amO H$amo' H$s Zr{V Ho$ H$maU

(D) Cn`w©∫$ _| go EH$ go A{YH$

(E) Cn`w©∫$ _| go H$moB© Zht

67. {ZÂZ{b{IV _| go {H$g {V{W H$mo amZr
{däQ>mo[a`m H$s CX≤KmofUm Omar h˛B©?

(A) 1 ZdÂ~a, 1857

(B) 27 _mM©, 1858

(C) 1 ZdÂ~a, 1858

(D) Cn`w©∫$ _| go EH$ go A{YH$

(E) Cn`w©∫$ _| go H$moB© Zht

68. {ZÂZ{b{IV _| go H$m°Z-gm H$WZ ghr h°?

(A) amOm am__mohZ am` ZdrZ {ejm Ho$
AJ´Ur Woü&

(B) Òdm_r X`mZ›X Zo "^maV ^maVr`m| Ho$
{bE' H$m Zmam {X`mü&

(C) {ddoH$mZ›X Zo {dÌd Y_© gßgX _| ^mJ
{b`mü&

(D) Cn`w©∫$ _| go EH$ go A{YH$

(E) Cn`w©∫$ _| go H$moB© Zht

69. BZ_| go H$m°Z BßΩb¢S> _| ^maV Ho$ AZm{YH$m[aH$
XyV ~Zo?

(A) gwao›–ZmW ~ZOu

(B) XmXm^mB© Zm°amoOr

(C) Òdm_r {ddoH$mZ›X

(D) Cn`w©∫$ _| go EH$ go A{YH$

(E) Cn`w©∫$ _| go H$moB© Zht

70. ^maV gaH$ma A{Y{Z`_, 1935 H$mo {H$gZo
"Jwbm_r H$m MmQ>©a' ~Vm`m?

(A) _hmÀ_m Jm±Yr

(B) ZoVmOr gw^mf M›– ~mog

(C) _m°bmZm hgaV _mohmZr

(D) Cn`w©∫$ _| go EH$ go A{YH$

(E) Cn`w©∫$ _| go H$moB© Zht



PART—III

( BUSINESS STUDIES )

71. The scatter in a series of value

about the average is called

(A) central tendency

(B) skewness

(C) symmetry

(D) More than one of the above

(E) None of the above

72. Which of the following is an

absolute measure of dispersion?

(A) Coefficient of variation

(B) Coefficient of dispersion

(C) Standard deviation

(D) More than one of the above

(E) None of the above

73. Bowley’s coefficient of skewness

lies between

(A) 0 and 1

(B) –1 and +1

(C) –1 and 0

(D) More than one of the above

(E) None of the above

74. What is the method of collecting

primary data?

(A) Interview

(B) Observation

(C) Questionnaire

(D) More than one of the above

(E) None of the above

75. How to show the role of govern-

ment in business?

(A) Positive

(B) Negative

(C) Neutral

(D) More than one of the above

(E) None of the above

76. Which of the following is not a

part of industrial policy?

(A) Tariff reduction

(B) Subsidies to industry

(C) Change in the corporate tax

(D) More than one of the above

(E) None of the above

77. Which of the following industries

is considered natural mono-

polies?

(A) Banking

(B) Railways

(C) Electricity production

(D) More than one of the above

(E) None of the above
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PART—III

( BUSINESS STUDIES )

71. Am°gV Ho$ ~mao _| _yÎ`moß H$s ˚m•ßIbm _| {~Iamd
H$mo H$hm OmVm h°

(A) Ho$›–r` ‡d•{Œm

(B) {VaN>mnZ

(C) g_Í$nVm

(D) Cn`w©∫$ _| go EH$ go A{YH$

(E) Cn`w©∫$ _| go H$moB© Zht

72. {ZÂZ{b{IV _| go H$m°Z-gm \°$bmd H$m nyU©
_mn h°?

(A) {^fiVm H$m JwUmßH$

(B) \°$bmd H$m JwUmßH$

(C) _mZH$ {dMbZ

(D) Cn`w©∫$ _| go EH$ go A{YH$

(E) Cn`w©∫$ _| go H$moB© Zht

73. ~mCbo H$m {VaN>mnZ (Òä`yZog) JwUmßH$ {H$gHo$
~rM pÒWV h°?

(A) 0 Am°a 1

(B) –1 Am°a +1

(C) –1 Am°a 0

(D) Cn`w©∫$ _| go EH$ go A{YH$

(E) Cn`w©∫$ _| go H$moB© Zht

74. ‡mW{_H$ S>oQ>m EH$Ã H$aZo H$s {d{Y ä`m h°?

(A) gmjmÀH$ma

(B) AdbmoH$Z

(C) ‡ÌZmdbr

(D) Cn`w©∫$ _| go EH$ go A{YH$

(E) Cn`w©∫$ _| go H$moB© Zht

75. Ï`dgm` _| gaH$ma H$s ^y{_H$m H°$go Xem©`r
OmVr h°?

(A) gH$mamÀ_H$

(B) ZH$mamÀ_H$

(C) VQ>ÒW

(D) Cn`w©∫$ _| go EH$ go A{YH$

(E) Cn`w©∫$ _| go H$moB© Zht

76. {ZÂZ{b{IV _| go H$m°Z-gm Am°⁄mo{JH$ Zr{V H$m
{hÒgm Zht h°?

(A) Q>°[a\$ _| H$_r

(B) C⁄moJ H$mo gp„gS>r

(C) H$m∞anmoaoQ> H$a Ï`dÒWm _| ~Xbmd

(D) Cn`w©∫$ _| go EH$ go A{YH$

(E) Cn`w©∫$ _| go H$moB© Zht

77. {ZÂZ{b{IV _| go {H$g C⁄moJ (industry)
H$mo ‡mH•${VH$ EH$m{YH$ma _mZm OmVm h°?

(A) ~¢qH$J

(B) aobdo

(C) {d⁄wV≤ CÀnmXZ

(D) Cn`w©∫$ _| go EH$ go A{YH$

(E) Cn`w©∫$ _| go H$moB© Zht



78. Which of the following bodies

was predecessor to World Trade

Organization (WTO)?

(A) General Agreement on Tariff

and Trade (GATT)

(B) International Monetary Fund

(C) International Bank for

Reconstruction and Develop-

ment

(D) More than one of the above

(E) None of the above

79. Which of the following is a

major source of human capital

formation in India?

(A) Expenditure on the job

training

(B) Expenditure on education

(C) General expenditure on

employee

(D) More than one of the above

(E) None of the above

80. Which of the following is the

example of self-employment

programme in India?

(A) Swarna Jayanti Shahari

Rozgar Yojana

(B) Pradhan Mantri Rozgar

Yojana

(C) Mukhya Mantri Rozgar

Yojana

(D) More than one of the above

(E) None of the above

81. The per day calorie estimate of

poverty for rural economies is

(A) less than 2400

(B) less than 2200

(C) less than 2000

(D) More than one of the above

(E) None of the above

82. Which of the following theories

suggests that firms seek to

penetrate new market over time?

(A) Imperfect market theory

(B) Product cycle theory

(C) Theory of comparative

advantage

(D) More than one of the above

(E) None of the above

83. Dumping refers to

(A) reducing tariffs

(B) sale of goods abroad at a

lower price, below their cost

and price in their home

market

(C) buying goods at low prices

abroad and selling at higher

prices locally

(D) More than one of the above

(E) None of the above

84. International trade and domestic

trade differ because of

(A) different government policies

(B) immobility of factor

(C) trade restrictions

(D) More than one of the above

(E) None of the above
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78. {ZÂZ{b{IV _| go H$m°Z-gm {ZH$m` {dÌd
Ï`mnma gßJR>Z (WTO) H$m nyd©dVu Wm?

(A) Q>°[a\$ Am°a Ï`mnma na gm_m›` g_Pm°Vm
(GATT)

(B) AßVam©Ô¥>r` _w–m H$mof

(C) AßVam©Ô¥>r` nwZ{Z©_m©U Edß {dH$mg ~¢H$

(D) Cn`w©∫$ _| go EH$ go A{YH$

(E) Cn`w©∫$ _| go H$moB© Zht

79. {ZÂZ{b{IV _| go H$m°Z-gm ^maV _| _mZd ny±Or
{Z_m©U H$m ‡_wI ÚmoV h°?

(A) Zm°H$ar ‡{ejU na Ï``

(B) {ejm na Ï``

(C) H$_©Mmar na gm_m›` Ï``

(D) Cn`w©∫$ _| go EH$ go A{YH$

(E) Cn`w©∫$ _| go H$moB© Zht

80. {ZÂZ{b{IV _| go ^maV _| ÒdamoOJma H$m`©H´$_m|
H$m CXmhaU h°

(A) ÒdU© O`ßVr ehar amoOJma `moOZm

(B) ‡YmZ_ßÃr amoOJma `moOZm

(C) _wª`_ßÃr amoOJma `moOZm

(D) Cn`w©∫$ _| go EH$ go A{YH$

(E) Cn`w©∫$ _| go H$moB© Zht

81. J´m_rU AW©Ï`dÒWm Ho$ {bE Jar~r H$m ‡{V
{XZ H°$bmoar AZw_mZ ——— h°ü&

(A) 2400 go ^r H$_

(B) 2200 go ^r H$_

(C) 2000 go ^r H$_

(D) Cn`w©∫$ _| go EH$ go A{YH$

(E) Cn`w©∫$ _| go H$moB© Zht

82. {ZÂZ{b{IV _| go H$m°Z-gm {g’m›V `h ~VmVm
h° {H$ H$Ân{Z`m± g_` Ho$ gmW Z`o ~mOmamoß _|
‡doe H$aZm MmhVr h°ß?

(A) AnyU© ~mOma {g’m›V

(B) CÀnmX MH´$ {g’m›V

(C) VwbZmÀ_H$ bm^ H$m {g’m›V

(D) Cn`w©∫$ _| go EH$ go A{YH$

(E) Cn`w©∫$ _| go H$moB© Zht

83. S>ßqnJ H$m VmÀn`© h°

(A) Q>°[a\$ H$_ H$aZm

(B) {dXoe _|, H$_ H$s_V na, CZH$s bmJV
go H$_ Am°a Kaoby ~mOma _| H$s_V go
H$_ na _mb H$s {~H´$s

(C) {dXoe _| H$_ H$s_V na gm_mZ IarXZm
Am°a ÒWmZr` ÒVa na D±$Mr H$s_V na
~oMZm

(D) Cn`w©∫$ _| go EH$ go A{YH$

(E) Cn`w©∫$ _| go H$moB© Zht

84. A›Vam©Ô¥>r` Ï`mnma Edß Kaoby Ï`mnma _| {^fiVm
h°

(A) {d{^fi gaH$mar Zr{V`m| Ho$ H$maU

(B) H$maH$ H$s J{VhrZVm Ho$ H$maU

(C) Ï`mnma ‡{V~ßYm| Ho$ H$maU

(D) Cn`w©∫$ _| go EH$ go A{YH$

(E) Cn`w©∫$ _| go H$moB© Zht



85. Government policy about export

and import is called

(A) commercial policy

(B) fiscal policy

(C) monetary policy

(D) More than one of the above

(E) None of the above

86. Stock exchange provides an

opportunity for investors to

disinvest and invest. Identify the

related function of the stock

exchange.

(A) Providing scope for

speculation

(B) Providing liquidity and

marketability to existing

securities

(C) Pricing of security

(D) More than one of the above

(E) None of the above

87. Name the principle of manage-

ment suggested by Henri Fayol

which advocates that “There

should be good superiors at all

level, clear and fair agreement

and judicious application of

penalties”.

(A) Authority and responsibility

(B) Esprit de corps

(C) Order

(D) More than one of the above

(E) None of the above

88. Which of the following is an

objective of time study?

(A) To determine the number of

worker to be employed

(B) To formulate suitable

incentive schemes

(C) To calculate the labour

costs

(D) More than one of the above

(E) None of the above

89. The concept of work study

techniques includes

(A) time study

(B) motion study

(C) fatigue study

(D) More than one of the above

(E) None of the above

90. S. K. Singh wants to increase

the sales of his business by 15%

in next quarter.

Identify the type of plan being

described in the above lines.

(A) Method

(B) Objective

(C) Strategy

(D) More than one of the above

(E) None of the above
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85. {Z`m©V Edß Am`mV Ho$ ~mao _| gaH$mar Zr{V
H$hbmVr h°

(A) dm{Up¡`H$ Zr{V

(B) amOH$mofr` Zr{V

(C) _m°{–H$ Zr{V

(D) Cn`w©∫$ _| go EH$ go A{YH$

(E) Cn`w©∫$ _| go H$moB© Zht

86. ÒQ>m∞H$ EägM|O {ZdoeH$moß H$mo {d{Zdoe Am°a
{Zdoe H$aZo H$s gw{dYm ‡XmZ H$aVm h°ü& ÒQ>m∞H$
EägM|O Ho$ gÂ~p›YV H$m`© H$mo nhMm{ZEü&

(A) AQ>H$bmoß Ho$ {bE JwßOmBe (gÂ^mdZm)
‡XmZ H$aZm

(B) _m°OyXm ‡{V^y{V`m| H$mo VabVm Am°a
{dnUZ j_Vm ‡XmZ H$aZm

(C) ‡{V^y{V H$m _yÎ`-{ZYm©aU

(D) Cn`w©∫$ _| go EH$ go A{YH$

(E) Cn`w©∫$ _| go H$moB© Zht

87. hoZar \o$`m∞b ¤mam gwPmE JE ‡~ßYZ {g’m›V
H$m Zm_ ~VmBE Omo Bg H$WZ H$s dH$mbV
H$aVm h° {H$ ""g^r ÒVamoß na ÒnÔ> Edß {ZÓnj
g_Pm°Vo Am°a XßS>moß Ho$ ›`m`mo{MV Ï`dhma Ho$
{bE EH$ A¿N>m n`©dojH$ hmoZm Mm{hE''ü&

(A) A{YH$mar Edß {OÂ_oXmar

(B) gßK e{∫$

(C) AmXoe

(D) Cn`w©∫$ _| go EH$ go A{YH$

(E) Cn`w©∫$ _| go H$moB© Zht

88. {ZÂZ{b{IV _| go H$m°Z-gm g_` A‹``Z H$m
C‘oÌ` h°?

(A) {Z`mo{OV {H$E OmZo dmbo l{_H$moß H$s
gßª`m H$m {ZYm©aU H$aZm

(B) A¿N>r Bßg|{Q>d `moOZmAm| H$mo V°`ma H$aZm

(C) l{_H$ bmJV H$s JUZm H$aZm

(D) Cn`w©∫$ _| go EH$ go A{YH$

(E) Cn`w©∫$ _| go H$moB© Zht

89. H$m`© A‹``Z VH$ZrH$s H$s AdYmaUm _|
gpÂ_{bV h°

(A) Q>mB_ ÒQ>S>r

(B) _moeZ ÒQ>S>r

(C) \$Q>rJ ÒQ>S>r

(D) Cn`w©∫$ _| go EH$ go A{YH$

(E) Cn`w©∫$ _| go H$moB© Zht

90. Eg0 Ho$0 qgh AJbr {V_mhr _| AnZo
Ï`dgm` H$s {~H´$s 15% ~ãT>mZm MmhVo h¢ü&
Cn`w©∫$ H$WZ _| d{U©V `moOZm Ho$ ‡H$ma H$s
nhMmZ H$s{OEü&

(A) {d{Y (Method)

(B) C‘oÌ`

(C) aUZr{V

(D) Cn`w©∫$ _| go EH$ go A{YH$

(E) Cn`w©∫$ _| go H$moB© Zht
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91. Identify the style of leadership in

which the superior uses file

forces from within the group in

order to establish control.

(A) Autocratic leadership

(B) Democratic leadership

(C) Laissez-faire leadership

(D) More than one of the above

(E) None of the above

92. “Profits do not have to be

shared.” This statement refers to

(A) company

(B) joint Hindu family

(C) sole proprietorship

(D) More than one of the above

(E) None of the above

93. In a cooperative society, the

principle followed is

(A) one man, one vote

(B) one share, one vote

(C) multiple vote

(D) More than one of the above

(E) None of the above

94. The Karta in the joint Hindu

family business has

(A) no liability for debts

(B) unlimited liability

(C) joint liability

(D) More than one of the above

(E) None of the above

95. The Small Industries Develop-

ment Bank of India Act was

passed in which of the following

years?

(A) 1987

(B) 1985

(C) 1989

(D) More than one of the above

(E) None of the above

96. The New India Assurance

Company was established in

(A) 1919

(B) 1929

(C) 1909

(D) More than one of the above

(E) None of the above

97. Who was the first Chairman of

SEBI?

(A) Dr. Manmohan Singh

(B) Dr. S. A. Dave

(C) Ms. Madhabi Puri Buch

(D) More than one of the above

(E) None of the above

98. ——— is the oldest public sector

bank of India.

(A) Bank of India

(B) Andhra Bank

(C) Indian Bank (Allahabad

Bank)

(D) More than one of the above

(E) None of the above
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91. ZoV•Àd H$s Cg e°br H$s nhMmZ H$s{OE {Og_|
d[a> g_yh Ho$ ^rVa Hß$Q¥>mob H$aZo Ho$ {bE
\$mBb ~b H$m ‡`moJ H$aVm h°ü&

(A) {ZaßHw$e ZoV•Àd

(B) bmoH$Vmß{ÃH$ ZoV•Àd

(C) AhÒVjon ZoV•Àd

(D) Cn`w©∫$ _| go EH$ go A{YH$

(E) Cn`w©∫$ _| go H$moB© Zht

92. ""bm^ gmPm H$aZm AmdÌ`H$ Zht h°ü&'' `h
H$WZ gÂ~p›YV h°

(A) H$ÂnZr go

(B) A^m¡` {h›Xy n[adma go

(C) EH$_mÃ Òdm_r go

(D) Cn`w©∫$ _| go EH$ go A{YH$

(E) Cn`w©∫$ _| go H$moB© Zht

93. ghH$mar g{_{V _| çççç {Z`_ H$m nmbZ
hmoVm h°ü&

(A) EH$ Ï`{∫$, EH$ _V

(B) EH$ Aße, EH$ _V

(C) ~h˛V A{YH$ _V

(D) Cn`w©∫$ _| go EH$ go A{YH$

(E) Cn`w©∫$ _| go H$moB© Zht

94. A^m¡` {h›Xy nm[adm[aH$ Ï`dgm` _| H$Vm© Ho$
nmg ——— hmoVm h°ü&

(A) G$U Ho$ {bE H$moB© Xm{`Àd Zht

(B) Agr{_V Xm{`Àd

(C) gß`w∫$ Xm{`Àd

(D) Cn`w©∫$ _| go EH$ go A{YH$

(E) Cn`w©∫$ _| go H$moB© Zht

95. ^maVr` bKw C⁄moJ {dH$mg ~¢H$ A{Y{Z`_
{H$g df© _| nm[aV h˛Am?

(A) 1987

(B) 1985

(C) 1989

(D) Cn`w©∫$ _| go EH$ go A{YH$

(E) Cn`w©∫$ _| go H$moB© Zht

96. ›`y Bß{S>`m EÌ`moa|g H$ÂnZr H$s ÒWmnZm

——— _| h˛B© Wrü&

(A) 1919

(B) 1929

(C) 1909

(D) Cn`w©∫$ _| go EH$ go A{YH$

(E) Cn`w©∫$ _| go H$moB© Zht

97. go~r Ho$ ‡W_ A‹`j Wo

(A) S>m∞0 _Z_mohZ qgh

(B) S>m∞0 Eg0 E0 Xdo

(C) gwlr _mY~r nwar ~wM

(D) Cn`w©∫$ _| go EH$ go A{YH$

(E) Cn`w©∫$ _| go H$moB© Zht

98. ——— gmd©O{ZH$ joÃ H$m g~go nwamZm ~¢H$
h°ü&

(A) ~¢H$ Am∞\$ Bß{S>>`m

(B) Am›Y´m ~¢H$

(C) Bß{S>`Z ~¢H$ (Bbmhm~mX ~¢H$)

(D) Cn`w©∫$ _| go EH$ go A{YH$

(E) Cn`w©∫$ _| go H$moB© Zht
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99. The name of the first bank

established in India was

(A) Bank of Hindustan

(B) RBI

(C) Imperial Bank

(D) More than one of the above

(E) None of the above

100. The sign of R is a

(A) Devanagari letter

(B) Roman letter

(C) Sanskrit letter

(D) More than one of the above

(E) None of the above

101. If the proposed nominal capital

is more than R 25 lakhs at the

time of incorporation, then the

company needs to submit ———
along with the application.

(A) statement of capital

(B) certificate of capital

(C) certificate of incorporation

(D) More than one of the above

(E) None of the above

102. A government company means

any company in which not less

than 51% of the paid-up share

capital is

(A) held by the Central

Government

(B) held by the State

Government

(C) only in the hand of share-

holders

(D) More than one of the above

(E) None of the above

103. Gross Profit is equal to

(A) Cost of Goods Sold +

Opening Stock

(B) Net Sales – Cost of Goods

Sold

(C) Sales – Purchase

(D) More than one of the above

(E) None of the above

104. Accounting provides information

on

(A) cost and income for

managers

(B) company tax liability for a

particular year

(C) financial conditions of an

institution

(D) More than one of the above

(E) None of the above

105. Idle value of current ratio is

(A) 2 : 1

(B) 1 : 1

(C) 3 : 1

(D) More than one of the above

(E) None of the above

106. Patent and trademarks are

(A) current assets

(B) intangible assets

(C) investments

(D) More than one of the above

(E) None of the above
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99. ^maV _| ÒWm{nV hmoZo dmbm ‡W_ ~¢H$ H$m Zm_
h°

(A) ~¢H$ Am∞\$ {h›XwÒVmZ

(B) Ama0 ~r0 AmB0 (RBI)

(C) BÂnr[a`b ~¢H$

(D) Cn`w©∫$ _| go EH$ go A{YH$

(E) Cn`w©∫$ _| go H$moB© Zht

100. Èn`o H$m {Mï R h° EH$

(A) XodZmJar Aja

(B) amo_Z Aja

(C) gßÒH•$V Aja

(D) Cn`w©∫$ _| go EH$ go A{YH$

(E) Cn`w©∫$ _| go H$moB© Zht

101. EH$ H$ÂnZr H$mo ‡mW©ZmnÃ Ho$ gmW ———

gpÂ_{bV H$aZm hmoJm, `{X {ZJ_Z Ho$ g_`
‡ÒVm{dV Zm_mß{H$V ny±Or R 25 bmI go
A{YH$ h°ü&

(A) ny±Or H$m {ddaU

(B) ny±Or H$m ‡_mUnÃ

(C) {ZJ_Z H$m ‡_mUnÃ

(D) Cn`w©∫$ _| go EH$ go A{YH$

(E) Cn`w©∫$ _| go H$moB© Zht

102. EH$ gaH$mar H$ÂnZr H$m _Vb~ Eogr H$ÂnZr
h°, {Og_| H$_-go-H$_ 51% ‡XŒm Aße ny±Or

——— _m°OyX h°ü&

(A) Ho$›–r` gaH$ma Ho$ nmg

(B) am¡` gaH$ma Ho$ nmg

(C) Ho$db AeßYm[a`m| Ho$ hmWmoß _|

(D) Cn`w©∫$ _| go EH$ go A{YH$

(E) Cn`w©∫$ _| go H$moB© Zht

103. gH$b bm^ {H$gHo$ ~am~a h°?

(A) ~oMo JE _mb H$m bmJV _yÎ` +
‡maß{^H$ ah{V`m

(B) ew’ {dH´$` – ~oMo JE _mb H$m bmJV
_yÎ`

(C) {dH´$` – H´$`

(D) Cn`w©∫$ _| go EH$ go A{YH$

(E) Cn`w©∫$ _| go H$moB© Zht

104. boImßH$Z gyMZm ‡XmZ H$aVm h°

(A) ‡~ßYH$ H$mo bmJV Edß Am` go
gÂ~p›YV

(B) {ZpÌMV df© H$m H$ÂnZr H$m H$a Xm{`Àd
go gÂ~p›YV

(C) H$ÂnZr (gßÒWm) H$s {dŒmr` pÒW{V go
gÂ~p›YV

(D) Cn`w©∫$ _| go EH$ go A{YH$

(E) Cn`w©∫$ _| go H$moB© Zht

105. Mmby AZwnmV H$m AmXe© _yÎ` h°

(A) 2 : 1

(B) 1 : 1

(C) 3 : 1

(D) Cn`w©∫$ _| go EH$ go A{YH$

(E) Cn`w©∫$ _| go H$moB© Zht

106. noQ>|Q> Edß Q¥>oS>_mH©$ h°ß

(A) Mmby gÂn{Œm`m±

(B) A_yV© gÂn{Œm`m±

(C) {Zdoe

(D) Cn`w©∫$ _| go EH$ go A{YH$

(E) Cn`w©∫$ _| go H$moB© Zht



24/HV/M–2023–28/S5 (HS)/252-A 30

107. What are the different types of

liquidity ratio?

1. Interest coverage ratio

2. Current ratio

3. Inventory turnover ratio

4. Gross profit ratio

5. Acid-test ratio

Choose the correct answer from

the options given below.

(A) 1 and 2 only

(B) 2 and 5 only

(C) 2 and 4 only

(D) More than one of the above

(E) None of the above

108. Which statement is true?

(A) Human value system plays

a vital role in total quality

management.

(B) Value gives the real meaning

to total quality management

effort.

(C) Total quality management

is a corporate management

strategy.

(D) More than one of the above

(E) None of the above

109. If 2 3x y= and 4 5y z= , then what

is the value of x z: ?

(A) 3 : 4

(B) 8 : 15

(C) 15 : 8

(D) More than one of the above

(E) None of the above

110. If ( ) : ( ) : ( ) : :a b b c c a+ + + = 7 4 5

and a b c+ + = 16, then

( ) : ( )a b c ab bc ca2 2 2
+ + + + is

equal to

(A) 26 : 19

(B) 23 : 15

(C) 27 : 20

(D) More than one of the above

(E) None of the above

111. Arun raised the price of his

products by 40%. How much

discount should he give so as to

sell the product no profit no loss

basis?

(A) 40%

(B) 30%

(C) 22·5%

(D) More than one of the above

(E) None of the above

112. There is a 10% discount on a

dozen pair of trousers marked

at R8,000. How many pairs of

trousers can be bought with

R2,400?

(A) 7

(B) 2

(C) 4

(D) More than one of the above

(E) None of the above
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107. {ZÂZ{b{IV _| go {d{^fi ‡H$ma Ho$ VabVm
AZwnmV ä`m h°ß?

1. B›Q¥>oÒQ> H$daoO AZwnmV

2. Mmby AZwnmV

3. Bßd|Q¥>r Q>Z©Amoda AZwnmV

4. gH$b bm^ AZwnmV

5. Eo{gS>-Q>oÒQ> AZwnmV

ZrMo {XE JE Hy$Q> go ghr CŒma H$m M`Z
H$s{OEü&

(A) Ho$db 1 Am°a 2

(B) Ho$db 2 Am°a 5

(C) Ho$db 2 Am°a 4

(D) Cn`w©∫$ _| go EH$ go A{YH$

(E) Cn`w©∫$ _| go H$moB© Zht

108. H$m°Z-gm H$WZ gÀ` h°?

(A) _mZdr` _yÎ` ‡Umbr gÂnyU© JwUdŒmm
‡~ßYZ _| _hŒdnyU© ^y{_H$m {Z^mVr h°ü&

(B) _yÎ` Hw$b JwUdŒmm ‡~ßYZ ‡`mg H$mo
dmÒV{dH$ AW© XoVm h°ü&

(C) nyU© JwUdŒmm ‡~ßYZ EH$ {ZJ{_V ‡~ßYZ
aUZr{V h°ü&

(D) Cn`w©∫$ _| go EH$ go A{YH$

(E) Cn`w©∫$ _| go H$moB© Zht

109. `{X 2 3x y= Edß 4 5y z= hmo, Vmo x z:

H$m _mZ ä`m hmoJm?

(A) 3 : 4

(B) 8 : 15

(C) 15 : 8

(D) Cn`w©∫$ _| go EH$ go A{YH$

(E) Cn`w©∫$ _| go H$moB© Zht

110. `{X ( ) : ( ) : ( ) : :a b b c c a+ + + = 7 4 5

Edß a b c+ + = 16, V~

( ) : ( )a b c ab bc ca2 2 2
+ + + + ~am~a

hmoJm

(A) 26 : 19

(B) 23 : 15

(C) 27 : 20

(D) Cn`w©∫$ _| go EH$ go A{YH$

(E) Cn`w©∫$ _| go H$moB© Zht

111. AÈU AnZo CÀnmX H$s H$s_V _| 40% H$s
~ãT>moVar H$aVm h°ü& A~ CgH$mo {H$VZr Ny>Q> XoZr
Mm{hE {H$ CÀnmX Z bm^ Z ZwH$gmZ na ~oM
gHo$?

(A) 40%

(B) 30%

(C) 22·5%

(D) Cn`w©∫$ _| go EH$ go A{YH$

(E) Cn`w©∫$ _| go H$moB© Zht

112. R8,000 H$s_V dmbo EH$ XO©Z OmoãS>o nVbyZm|
na 10% H$s Ny>Q> h°ü& R2,400 _| {H$VZo
OmoãS>o nVbyZ IarXo Om gH$Vo h¢?

(A) 7

(B) 2

(C) 4

(D) Cn`w©∫$ _| go EH$ go A{YH$

(E) Cn`w©∫$ _| go H$moB© Zht
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113. Depreciation is generated due to

(A) increase in the value of

liability

(B) decrease in capital

(C) wear and tear

(D) More than one of the above

(E) None of the above

114. Depreciation is calculated under

diminishing balance method

based on

(A) original value

(B) book value

(C) scrap value

(D) More than one of the above

(E) None of the above

115. The index number for base year

is always

(A) 1000

(B) 10

(C) 100

(D) More than one of the above

(E) None of the above

116. Fisher’s method of calculating

the index number is based on

the

(A) geometric mean

(B) arithmetic mean

(C) harmonic mean

(D) More than one of the above

(E) None of the above

117. GST was implemented in India

from

(A) 1st July, 2017

(B) 1st April, 2017

(C) 1st January, 2017

(D) More than one of the above

(E) None of the above

118. GST rates applicable on goods

and services are

(A) 0%, 5%, 12%, 18%, 26%

(B) 0%, 6%, 12%, 18%, 28%

(C) 0%, 5%, 12%, 18%, 28%

(D) More than one of the above

(E) None of the above

119. What does ‘I’ in IGST stand for?

(A) Internal

(B) Intra

(C) International

(D) More than one of the above

(E) None of the above

120. Break-even point is the point

where

(A) fixed cost and variable cost

lines intersect

(B) sales and total cost lines

intersect

(C) variable and total cost lines

intersect

(D) More than one of the above

(E) None of the above
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113. _yÎ`ımg CÀnfi hmoVm h°

(A) Xm{`Àd Ho$ _yÎ` _| d•{’ go

(B) ny±Or H$s H$_r go

(C) Qy>Q>-\y$Q> go

(D) Cn`w©∫$ _| go EH$ go A{YH$

(E) Cn`w©∫$ _| go H$moB© Zht

114. _yÎ`ımg H$s JUZm H´$_mJV ımg {d{Y go

——— Ho$ AmYma na H$s OmVr h°ü&

(A) dmÒV{dH$ _yÎ`

(B) nwÒVH$ _yÎ`

(C) ÒH´°$n _yÎ`

(D) Cn`w©∫$ _| go EH$ go A{YH$

(E) Cn`w©∫$ _| go H$moB© Zht

115. AmYma df© Ho$ {bE gyMH$mßH$ h_oem ———

hmoVm h°ü&

(A) 1000

(B) 10

(C) 100

(D) Cn`w©∫$ _| go EH$ go A{YH$

(E) Cn`w©∫$ _| go H$moB© Zht

116. {\$ea gyMH$mßH$ H$s JUZm {d{Y ——— na
AmYm[aV hmoVr h°ü&

(A) JwUmoŒma _m‹`

(B) g_m›Va _m‹`

(C) hma_mo{ZH$ _m‹`

(D) Cn`w©∫$ _| go EH$ go A{YH$

(E) Cn`w©∫$ _| go H$moB© Zht

117. ^maV _| dÒVw Edß godm H$a bmJy h˛Am

(A) 1 OwbmB©, 2017 go

(B) 1 A‡°b, 2017 go

(C) 1 OZdar, 2017 go

(D) Cn`w©∫$ _| go EH$ go A{YH$

(E) Cn`w©∫$ _| go H$moB© Zht

118. dÒVw Edß godmAm| na bJZo dmbo dÒVw Edß godm
H$a H$s Xa| h°¢

(A) 0%, 5%, 12%, 18%, 26%

(B) 0%, 6%, 12%, 18%, 28%

(C) 0%, 5%, 12%, 18%, 28%

(D) Cn`w©∫$ _| go EH$ go A{YH$

(E) Cn`w©∫$ _| go H$moB© Zht

119. IGST _| "I' H$m _Vb~ h°

(A) AmßV[aH$

(B) B›Q¥>m

(C) AßVam©Ô¥>r`

(D) Cn`w©∫$ _| go EH$ go A{YH$

(E) Cn`w©∫$ _| go H$moB© Zht

120. g_-{d¿N>oX {~›Xw dh {~›Xw h°, Ohm±

(A) pÒWa bmJV Edß Ma bmJV aoImE± EH$-
Xygao H$mo H$mQ>Vr h°ß

(B) {dH´$` Edß Hw$b bmJV aoImE± EH$-Xygao
H$mo H$mQ>Vr h°ß

(C) Ma Edß Hw$b bmJV aoImE± EH$-Xygao H$mo
H$mQ>Vr h°ß

(D) Cn`w©∫$ _| go EH$ go A{YH$

(E) Cn`w©∫$ _| go H$moB© Zht
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121. At break-even point, slope of

sales line is equal to

(A)
Variable Cost Fixed Cost

Total Sales

+

(B)
Total Sales

Total Expenses

(C)
Sales Profit

Total Sales

-

(D) More than one of the above

(E) None of the above

122. If the nominal rate of interest

is 10% per annum and there

is quarterly compounding, the

effective rate of interest will be

(A) 10·38%

(B) 10·10%

(C) 10·25%

(D) More than one of the above

(E) None of the above

123. Present value tables for annuity

cannot be straight away applied

to varied stream of cash flows.

This statement is

(A) True

(B) False

(C) Either true or false

(D) More than one of the above

(E) None of the above

124. The code of conduct does not

include

(A) dishonesty

(B) rule

(C) morality

(D) More than one of the above

(E) None of the above

125. The economic activity in

which specialized knowledge is

required, is

(A) business

(B) profession

(C) employment

(D) More than one of the above

(E) None of the above

126. Successful management ensures

that

(A) goals are achieved with

least cost

(B) timely achievement of goals

(C) full utilization of resource

(D) More than one of the above

(E) None of the above

127. The function of management

related to placing the right

person at the right job is

(A) organizing

(B) staffing

(C) planning

(D) More than one of the above

(E) None of the above

128. ——— is a force that binds all

the functions of management.

(A) Cooperation

(B) Coordination

(C) Planning

(D) More than one of the above

(E) None of the above
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121. g_-{d¿N>oX {~›Xw na {dH´$` aoIm H$m T>bmZ
{H$gHo$ ~am~a hmoVm h°?

(A)
Ma bmJV + pÒWa bmJV

Hw$b {dH´$`

(B)
Hw$b {dH´$`
Hw$b IM©

(C)
{dH´$` – bm^
Hw$b {dH´$`

(D) Cn`w©∫$ _| go EH$ go A{YH$

(E) Cn`w©∫$ _| go H$moB© Zht

122. `{X „`mO H$s Zm__mÃ Xa 10% ‡{V df© h°
Am°a {Ã_m{gH$ MH´$d•{’ h°, Vmo ‡^mdr „`mO
Xa hmoJr

(A) 10·38%

(B) 10·10%

(C) 10·25%

(D) Cn`w©∫$ _| go EH$ go A{YH$

(E) Cn`w©∫$ _| go H$moB© Zht

123. dm{f©H$s Ho$ {bE dV©_mZ _yÎ` Vm{bH$mAm| H$mo
VwaßV ZH$Xr ‡dmhm| H$s {d{^fi YmamAm| na bmJy
Zht {H$`m Om gH$Vm h°ü& `h H$WZ h°

(A) gÀ`

(B) AgÀ`

(C) `m Vmo gÀ` `m AgÀ`

(D) Cn`w©∫$ _| go EH$ go A{YH$

(E) Cn`w©∫$ _| go H$moB© Zht

124. H$moS> Am∞\$ H$›S>äQ> _| gpÂ_{bV Zht h°

(A) ~oB©_mZr

(B) {Z`_

(C) Z°{VH$Vm

(D) Cn`w©∫$ _| go EH$ go A{YH$

(E) Cn`w©∫$ _| go H$moB© Zht

125. Eogr Am{W©H$ J{V{d{Y, {Og_| {d{eÔ> kmZ H$s
AmdÌ`H$Vm hmoVr h°, h°

(A) Ï`dgm`

(B) noem

(C) amoOJma

(D) Cn`w©∫$ _| go EH$ go A{YH$

(E) Cn`w©∫$ _| go H$moB© Zht

126. g\$b ‡~ßYZ gw{ZpÌMV H$aVm h°

(A) b˙`m| H$mo H$_-go-H$_ bmJV na ‡m·
H$aZm

(B) b˙`m| H$mo g_` na ‡m· H$aZm

(C) gßgmYZm| H$m nyU© Cn`moJ

(D) Cn`w©∫$ _| go EH$ go A{YH$

(E) Cn`w©∫$ _| go H$moB© Zht

127. ‡~ßYZ H$m H$m`© ghr Ï`{∫$ Ho$ {bE ghr H$m`©
H$s `moOZm ~ZmZm h°

(A) Am`moOZ

(B) ÒQ>mq\$J

(C) `moOZm

(D) Cn`w©∫$ _| go EH$ go A{YH$

(E) Cn`w©∫$ _| go H$moB© Zht

128. ——— EH$ Eogr e{∫$ h°, Omo ‡~ßYZ Ho$
g^r H$m`m] H$mo ~m±YVr h°ü&

(A) gh`moJ

(B) g_›d`Z

(C) `moOZm

(D) Cn`w©∫$ _| go EH$ go A{YH$

(E) Cn`w©∫$ _| go H$moB© Zht
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129. The maximum number of

partners allowed in the banking

business is

(A) 2

(B) 20

(C) No limit

(D) More than one of the above

(E) None of the above

130. The most popular form of

business organization is

(A) sole proprietorship

(B) company

(C) partnership

(D) More than one of the above

(E) None of the above

131. Cooperative plays an important

role in

(A) aerospace

(B) agriculture

(C) manufacturing

(D) More than one of the above

(E) None of the above

132. EOUs stand for

(A) Essential Order Units

(B) Export Order Units

(C) Export-Oriented Units

(D) More than one of the above

(E) None of the above

133. The MSMED Act came into

existence in

(A) October 2007

(B) October 2006

(C) October 2013

(D) More than one of the above

(E) None of the above

134. ISO 9000 is concerned with

(A) export

(B) quantity

(C) quality

(D) More than one of the above

(E) None of the above

135. Exemption from paying taxes for

5 years to 10 years is known as

(A) tax deduction

(B) TDS

(C) VAT

(D) More than one of the above

(E) None of the above

136. NSIC was set up in

(A) 1982

(B) 1975

(C) 1965

(D) More than one of the above

(E) None of the above
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129. ~¢qH$J Ï`dgm` _| A{YH$V_ gh`mo{J`m| H$s
gßª`m ——— h°ü&

(A) 2

(B) 20

(C) H$moB© gr_m Zht

(D) Cn`w©∫$ _| go EH$ go A{YH$

(E) Cn`w©∫$ _| go H$moB© Zht

130. Ï`dgm` _| gdm©{YH$ ‡ª`mV ‡H$ma h°

(A) EH$b Òdm_r

(B) H$ÂnZr

(C) nmQ>≤Za{en

(D) Cn`w©∫$ _| go EH$ go A{YH$

(E) Cn`w©∫$ _| go H$moB© Zht

131. ghH$mar gßÒWm H$s _wª` ^y{_H$m hmoVr h°

(A) E`amoÒnog _|

(B) H•${f _|

(C) {Z_m©U _|

(D) Cn`w©∫$ _| go EH$ go A{YH$

(E) Cn`w©∫$ _| go H$moB© Zht

132. EOU H$m _Vb~ ——— h°ü&

(A) Essential Order Units

(B) Export Order Units

(C) Export-Oriented Units

(D) Cn`w©∫$ _| go EH$ go A{YH$

(E) Cn`w©∫$ _| go H$moB© Zht

133. E_0 Eg0 E_0 B©0 S>r0 A{Y{Z`_ ———

_| ApÒVÀd _| Am`mü&

(A) AäVy~a 2007

(B) AäVy~a 2006

(C) AäVy~a 2013

(D) Cn`w©∫$ _| go EH$ go A{YH$

(E) Cn`w©∫$ _| go H$moB© Zht

134. ISO 9000 H$m gÂ~›Y h°

(A) {Z`m©V go

(B) _mÃm go

(C) JwUdŒmm go

(D) Cn`w©∫$ _| go EH$ go A{YH$

(E) Cn`w©∫$ _| go H$moB© Zht

135. 5 df© go 10 df© VH$ H$a MwH$mZo go Ny>Q> H$mo
H$hm OmVm h°

(A) H$a H$Q>m°Vr H$aZm

(B) Q>r0 S>r0 Eg0

(C) _yÎ`-d{Y©V H$a

(D) Cn`w©∫$ _| go EH$ go A{YH$

(E) Cn`w©∫$ _| go H$moB© Zht

136. EZ0 Eg0 AmB0 gr0 ÒWm{nV h˛Am

(A) 1982 _|

(B) 1975 _|

(C) 1965 _|

(D) Cn`w©∫$ _| go EH$ go A{YH$

(E) Cn`w©∫$ _| go H$moB© Zht
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137. Which one of the following is not

amongst India’s major trading

partners?

(A) USA

(B) New Zealand

(C) UK

(D) More than one of the above

(E) None of the above

138. Manufacturing and trade beyond

the boundaries of one’s own

country is

(A) foreign trade

(B) retail trade

(C) local trade

(D) More than one of the above

(E) None of the above

139. Which of the following factors

of production is not a part of

domestic business?

(A) Land

(B) Labour

(C) Customer

(D) More than one of the above

(E) None of the above

140. The theory of comparative cost

advantage is given by

(A) David Ricardo

(B) Ohlin and Heckscher

(C) Adam Smith

(D) More than one of the above

(E) None of the above

141. What is India’s share in world

trade?

(A) 1%

(B) 2%

(C) 3%

(D) More than one of the above

(E) None of the above

142. Silk Route was between

(A) China and Rome

(B) China and India

(C) Japan and Sri Lanka

(D) More than one of the above

(E) None of the above

143. In which year was WTO formed?

(A) 1995

(B) 1996

(C) 1998

(D) More than one of the above

(E) None of the above

144. In which year was GATT

formed?

(A) 1946

(B) 1948

(C) 1950

(D) More than one of the above

(E) None of the above
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137. {ZÂZ{b{IV _| go H$m°Z-gm EH$ ^maV H$m
_wª` Ï`mnm[aH$ gh`moJr Zht h°?

(A) A_o[aH$m

(B) ›`yOrb¢S>

(C) `y0 Ho$0

(D) Cn`w©∫$ _| go EH$ go A{YH$

(E) Cn`w©∫$ _| go H$moB© Zht

138. {d{Z_m©U Am°a {H$gr Xoe ¤mam AnZo Xoe H$s
gr_mAm| go nao Ï`mnma h°

(A) {dXoer Ï`mnma

(B) \w$Q>H$a Ï`mnma

(C) ÒWmZr` Ï`mnma

(D) Cn`w©∫$ _| go EH$ go A{YH$

(E) Cn`w©∫$ _| go H$moB© Zht

139. {ZÂZ{b{IV _| go H$m°Z-gm CÀnmXZ H$maH$ h°,
Omo Kaoby Ï`dgm` H$m {hÒgm Zht h°?

(A) O_rZ

(B) l{_H$

(C) J´mhH$

(D) Cn`w©∫$ _| go EH$ go A{YH$

(E) Cn`w©∫$ _| go H$moB© Zht

140. VwbZmÀ_H$ bmJV bm^ {g’m›V {X`m J`m

(A) S>o{dS> [aH$mS>m} ¤mam

(B) Amoh{bZ Edß hoäea ¤mam

(C) ES>_ pÒ_W ¤mam

(D) Cn`w©∫$ _| go EH$ go A{YH$

(E) Cn`w©∫$ _| go H$moB© Zht

141. {dÌd Ï`mnma _| ^maV H$m {hÒgm h°

(A) 1%

(B) 2%

(C) 3%

(D) Cn`w©∫$ _| go EH$ go A{YH$

(E) Cn`w©∫$ _| go H$moB© Zht

142. {gÎH$ Í$Q> ——— Ho$ ~rM Wmü&

(A) MrZ Edß amo_

(B) MrZ Edß ^maV

(C) OmnmZ Edß lrbßH$m

(D) Cn`w©∫$ _| go EH$ go A{YH$

(E) Cn`w©∫$ _| go H$moB© Zht

143. WTO H$m JR>Z {H$g df© h˛Am Wm?

(A) 1995

(B) 1996

(C) 1998

(D) Cn`w©∫$ _| go EH$ go A{YH$

(E) Cn`w©∫$ _| go H$moB© Zht

144. J°Q> H$m JR>Z {H$g df© h˛Am Wm?

(A) 1946

(B) 1948

(C) 1950

(D) Cn`w©∫$ _| go EH$ go A{YH$

(E) Cn`w©∫$ _| go H$moB© Zht
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145. Which of the following includes

owned fund (source of finance

for a joint-stock company)?

(A) Equity share capital

(B) Retained earning

(C) Preference share capital

(D) More than one of the above

(E) None of the above

146. Companies generally invite

public deposits for a period

up to

(A) 5 years

(B) 4 years

(C) 10 years

(D) More than one of the above

(E) None of the above

147. Industrial Finance Corporation

of India (IFCI) was established in

(A) July 1948

(B) July 2001

(C) July 1956

(D) More than one of the above

(E) None of the above

148. ADRs are issued in

(A) India

(B) China

(C) USA

(D) More than one of the above

(E) None of the above

149. Both seller and buyer are

business firms, under ———
type of e-commerce transaction.

(A) B2B commerce

(B) C2B commerce

(C) B2C commerce

(D) More than one of the above

(E) None of the above

150. Social responsibility is a firm’s

recognition of

(A) profit making

(B) growth

(C) social obligation

(D) More than one of the above

(E) None of the above
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145. {ZÂZ{b{IV _| go {H$g_oß Òdm{_Àd {Z{Y (EH$
gß`w∫$-ÒQ>m∞H$ H$ÂnZr Ho$ {bE {dŒm H$m ÚmoV)
em{_b h°?

(A) g_Vm Aße ny±Or

(B) ‡{VYm[aV Am`

(C) dar`Vm Aße ny±Or

(D) Cn`w©∫$ _| go EH$ go A{YH$

(E) Cn`w©∫$ _| go H$moB© Zht

146. Hß$n{Z`m± Am_Vm°a na çççç H$s Ad{Y VH$ Ho$
{bE gmd©O{ZH$ O_mE± Am_ß{ÃV H$aVr h¢ü&

(A) 5 df©

(B) 4 df©

(C) 10 df©

(D) Cn`w©∫$ _| go EH$ go A{YH$

(E) Cn`w©∫$ _| go H$moB© Zht

147. ^maVr` Am°⁄mo{JH$ {dŒm {ZJ_ (IFCI) H$s
ÒWmnZm h˛B©

(A) OwbmB© 1948 _|

(B) OwbmB© 2001 _|

(C) OwbmB© 1956 _|

(D) Cn`w©∫$ _| go EH$ go A{YH$

(E) Cn`w©∫$ _| go H$moB© Zht

148. E0 S>r0 Ama0 (ADRs) Omar {H$E OmVo h¢

(A) ^maV _|

(B) MrZ _|

(C) `y0 Eg0 E0 _|

(D) Cn`w©∫$ _| go EH$ go A{YH$

(E) Cn`w©∫$ _| go H$moB© Zht

149. çççç ‡H$ma Ho$ B©-H$m∞_g© boZXoZ Ho$ VhV,
{dH´o$Vm Edß IarXXma XmoZm| Ï`mdgm{`H$ \$_© h°ßü&

(A) B2B Ï`mnma

(B) C2B Ï`mnma

(C) B2C Ï`mnma

(D) Cn`w©∫$ _| go EH$ go A{YH$

(E) Cn`w©∫$ _| go H$moB© Zht

150. gm_m{OH$ CŒmaXm{`Àd EH$ \$_© H$s ———

H$s nhMmZ h°ü&

(A) bm^ H$_mZo

(B) {dH$mg

(C) gm_m{OH$ Xm{`Àd

(D) Cn`w©∫$ _| go EH$ go A{YH$

(E) Cn`w©∫$ _| go H$moB© Zht
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24/HV/M–2023–28 nwpÒVH$m ˚m•ßIbm
CÂ_rXdma H$m AZwH´$_mßH$

‡ÌZ-nwpÒVH$m

^mfm, gm_m›` A‹``Z Am°a {~OZog ÒQ>S>rO

‡ÌZm| Ho$ CŒma XoZo go nhbo ZrMo {bIo AZwXoem| H$mo ‹`mZ go nãT> b|ü&

_hŒdnyU© AZwXoe

1. `h ‡ÌZ-nwpÒVH$m VrZ ^mJm| _| {d^m{OV h°çç^mJ–I, ^mJçII Edß ^mJçIIIü& ^mJçI _| ^mfm (Ah©Vm) Ho$ ‡ÌZ h¢, ^mJçII _|
gm_m›` A‹``Z Ho$ ‡ÌZ h¢ VWm ^mJçIII _| {~OZog  ÒQ>S>rO Ho$ ‡ÌZ h¢ü&

2. ^mJçI _| ‡ÌZ gßª`m 1 go 30, ^mJçII _| ‡ÌZ gßª`m 31 go 70 VWm ^mJçIII _| ‡ÌZ gßª`m 71 go 150 VH$ h¢ü& ^mJçII VWm
^mJçIII _| ‡ÌZ Am°a CZHo$ CŒma AßJóOr Edß  {h›Xr _|  _w{–V h¢ü&

3. g^r ‡ÌZm|  H$m  AßH$  g_mZ h°ü&

4. narjm AmaÂ^ hmoVo hr Amn AnZr ‡ÌZ-nwpÒVH$m H$s Om±M H$a XoI b| {H$ BgHo$ D$na Xm`t Amoa ‡ÌZ-nwpÒVH$m H$s ˚m•ßIbm
_w{–V h°ü& H•$n`m Om±M b| {H$ nwpÒVH$m _| aµ\$ H$m`© hoVw Xmo n•>m| (n•> gß0 42 Am°a 43) g{hV nyao 44 _w{–V n•> h¢ Am°a H$moB©
‡ÌZ `m n•> {~Zm N>nm h˛Am `m \$Q>m h˛Am `m Xmo~mam Am`m h˛Am Vmo Zht h°ü& nwpÒVH$m _| {H$gr ‡H$ma H$s Ãw{Q> nmZo na VÀH$mb
BgHo$  ~Xbo Bgr ˚m•ßIbm  H$s Xygar ghr nwpÒVH$m  bo  b|ü&

5. Bg  n•>  Ho$  D$na {ZYm©[aV ÒWmZ _| AnZm AZwH´$_mßH$ AdÌ`  {bI|ü& ‡ÌZ-nwpÒVH$m na Am°a Hw$N>  Z  {bI|ü&

6. ‡ÌZm| Ho$ CŒma XoZo Ho$ {bE AmnH$mo drjH$ ¤mam AbJ go CŒma nÃH$ {X`m Om`oJmü& AnZo CŒma nÃH$ Ho$ n•>-1 na {ZYm©[aV ÒWmZ _|
AnZm Zm_ VWm A›`  {ddaU AdÌ`  {bI| A›`Wm AmnH$m CŒma nÃH$  Om±Mm Zht Om`oJmü&

7. CŒma nÃH$ Ho$ n•>-2 na {ZYm©[aV ÒWmZ _| AnZo AZwH´$_mßH$ VWm ‡ÌZ-nwpÒVH$m H$s ˚m•ßIbm A, B, C `m D O°gm Bg
‡ÌZ-nwpÒVH$m Ho$ AmdaU n•> Ho$ D$na Xm`t Amoa Aß{H$V h°, go gÂ~p›YV d•Œm H$mo H$mbr/Zrbr Ò`mhr Ho$ ~m∞b-nm∞B›Q> noZ go AdÌ`
Hy$Q>~’ H$a|ü& CŒma nÃH$ na ‡ÌZ-nwpÒVH$m ˚m•ßIbm Aß{H$V Zht H$aZo AWdm JbV ˚m•ßIbm Aß{H$V H$aZo na CŒma nÃH$ H$m ghr
_yÎ`mßH$Z Zht hmoJmü&

8. ‡À`oH$ ‡ÌZ Ho$ nm±M CŒmaçç(A), (B), (C), (D) Am°a (E) H´$_ na {X`o J`o h¢ü& CZ_| go Amn g~go ghr Ho$db EH$ CŒma H$mo MwZ| Am°a
AnZo CŒma nÃH$ na Aß{H$V  H$a|ü& AmnH$m Hw$b ‡m·mßH$ AmnHo$ ¤mam CŒma nÃH$  _|  Aß{H$V ghr CŒmam| na {Z^©a  H$aoJmü&

9. CŒma nÃH$ _| ‡À`oH$ ‡ÌZ gßª`m Ho$ gm_Zo nm±M d•Œm Bg ‡H$ma ~Zo h˛E h¢çç Am°a ü& ‡ÌZm| Ho$ CŒma XoZo Ho$ {bE
AmnH$mo AnZr ng›X Ho$ Ho$db EH$ d•Œm H$mo H$mbr/Zrbr Ò`mhr Ho$ ~m∞b-nm∞B›Q> noZ go {M{ïV H$aZm h°ü& ‡À`oH$ ‡ÌZ Ho$ {bE Ho$db EH$
CŒma H$mo MwZ| Am°a Cgo AnZo CŒma nÃH$ _| {M{ïV H$a|ü& Amn CŒma nÃH$ _| `{X EH$ ‡ÌZ Ho$ {bE EH$ go A{YH$ d•Œm _| {ZemZ bJmVo h¢,
Vmo AmnH$m CŒma JbV _mZm Om`oJmü& CŒma nÃH$ _| CŒma H$mo {M{ïV H$aZo Ho$ {bE Ho$db H$mbr/Zrbr Ò`mhr Ho$ ~m∞b-nm∞B›Q> noZ
H$m  hr  ‡`moJ H$a|ü&  {H$gr  ^r ‡H$ma  H$m  H$mQ>-Hy$Q> AWdm n[adV©Z  _m›` Zht h°ü&

10. ‡ÌZ-nwpÒVH$m go H$moB© nfim \$mãS>Zm `m AbJ H$aZm _Zm h°ü& ‡ÌZ-nwpÒVH$m Am°a CŒma nÃH$ H$mo narjm Ad{Y _| narjm ^dZ go ~mha
H$Xm{n Z bo Om`|ü& narjm Ho$ g_mnZ na CŒma nÃH$ drjH$ H$mo AdÌ` gm¢n X|ü& CgHo$ ~mX AmnH$mo AnZr ‡ÌZ-nwpÒVH$m AnZo gmW
bo OmZo H$s AZw_{V  h°ü&

11. D$na Ho$ AZwXoem| _| go {H$gr EH$ H$m ^r nmbZ Zht H$aZo na Amn na Am`moJ Ho$ {ddoH$mZwgma H$ma©dmB© H$s Om gH$Vr h° AWdm AmnH$mo
X�S>  {X`m  Om gH$Vm h°ü&

12. A‰`Wu CŒma nÃH$ H$mo AnZr CnpÒW{V _| Self Adhesive LDPE Bag _| nyar Vah go n°H$/grb H$admZo Ho$ CnamßV hr narjmH$j
H$mo  N>moãS>|ü&

Note : English version of the instructions is printed on the First Page of this Booklet.
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